光學作業

0932366張凱翔

14-1題目：

Derive the Jones matrix, Eq. (14-15),representing a linear polarizer whose transmission axis is at arbitrary angle θ with respect to the horizontal.

解：

1、 令一偏振光為
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~A，另外在另一與其偏振垂直之光為
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2、 令其矩陣為
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帶入A和B解聯立：

a*cosθ+b*sinθ=cosθ 
a*(-sinθ)+b*cosθ=0   
由克拉瑪公式得：a=(cos2θ+0)/(cos2θ+sin2θ)= cos2θ

               b=(0+ cosθsinθ)/ (cos2θ+sin2θ)= cosθsinθ
c*cosθ+d* sinθ= sinθ

c*(- sinθ)+d* cosθ=0

由克拉瑪公式得：c= (cosθsinθ+0)/ (cos2θ+sin2θ)= cosθsinθ

                d=[0-(- sin2θ)]/ (cos2θ+sin2θ)= sin2θ
故得出a= cos2θ
       b= cosθsinθ

       c= cosθsinθ

       d= sin2θ

此矩陣為：
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